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	[image: 3,3-Dimethyl-1-butyne]
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	9
	Medium
	The focus of the parabola x2−8x+2y+7 = 0 is
	
(4, 4)
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	9
	High
	If the coefficients of (r +1)th term and (r + 3)th term in the expansion of (1+x)2n be equal then
	n + r – 1 = 0

	n = r – 1
	n = r + 1

	none of these.

	[image: ]
	c



image5.png
iy
H,C—C=C—CH,
CHq




image6.jpeg
e
CHy—C—C=CH
CHa




image7.png
(—4(=3))




image8.png
0,630




image9.png
Explanation:
Parabola is x% - 8x + 2y+7=0
© (x-4)2=-2y-7+16
L (x=4)% == 2ly - (912)]
x2 = - 4ay
=x=x-4,y=y-(92)and 2=4ai.e.a=(1/2)
Its focus is given by x =0 andy = 0
ie.x—4=0 and y-(9/3)=0
x=4 andy=(9/2)

. focus [4, (9/2)].
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Tre1:Tres

¢, =2,

=>2n!/(2n-r)ir! = 2n!/(r+2)}(2n-r-2)!
> 1/(2n-r)(2n-r-1) = 1/(r+2)(r+1)

> (r+2)(r+1) = (2n-r)(2n-r-1)
>r2+3r+2=4n2-2nr-2n-2nr+r"2+r
=4n2-4nr-2n+r-3r-2
=4n2-4nr-2n+r-3r-2-2+2
=>0=4n2-4nr-4-[2n+2r-2]
=>4n(n-r-1)-2(n-r-1)
Thereforen-r-1=0

=r+l
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The correct structure of 3,3-dimethyl butyne is-
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